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次の極値を求めよ．

( i ) lim
x#»∞

(
√
x2 + 5x−

√
x2 + 2x)

(ii) lim
x#»∞

x2
(
1− cos 1

x

)
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【答】

( i ) 3
2

(ii) 1
2

【解答】

( i ) ∞−∞の不定形を解消するように，式を変形すると

lim
x→∞

(
√

x2 + 5x−
√

x2 + 2x)

= lim
x→∞

(
√
x2 + 5x−

√
x2 + 2x)(

√
x2 + 5x+

√
x2 + 2x)√

x2 + 5x+
√
x2 + 2x

= lim
x→∞

(x2 + 5x)− (x2 + 2x)√
x2 + 5x+

√
x2 + 2x

= lim
x→∞

3x√
x2 + 5x+

√
x2 + 2x

= lim
x→∞

3√
1 + 5

x
+

√
1 + 2

x

= 3
2

……（答）

である

(ii) ∞ · 0の不定形を解消するように，式を変形する． 1
x

= θ とおくと

lim
x#»∞

x2
(
1− cos 1

x

)
= lim

θ#»0

1− cos θ
θ2

= lim
θ#»0

2 sin2 θ
2

θ2

= lim
θ#»0


 sin θ

2
θ
2

2

· 1
2


= 12 · 1

2
= 1

2
……（答）

である．

• 次のように変形してもよい．

lim
x#»∞

x2
(
1− cos 1

x

)
= lim

θ#»0

1− cos θ
θ2

= lim
θ#»0

(1− cos θ)(1 + cos θ)

θ2(1 + cos θ)

= lim
θ#»0

sin2 θ
θ2(1 + cos θ)

= lim
θ#»0

{(
sin θ
θ

)2

· 1
1 + cos θ

}
= 12 · 1

2
= 1

2

である．


